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I 2 Mwn: status of NMIRI NPRY NVNWY for DTN DI NMNXN
a  If heslaughters and it proves to be a N971, or he slaughters for "y, or P in the "y or WP (97) outside or a M'n or
bird that must be stone (bird — if it was the object of ny»a7)
i p7ritstill requires ">
ii ~ p’pom no "os required
b However, if: he slaughters and fouls the nv'nw (n%>21) or he stabs it or pulls out the 110, no "o required
II  xar 92 8»n’7’s assessment of “Dnon” in our Mwn and x:n
a 217 preferred n”v’s position (1MR7 NPRY NVNY=NVNY) in re 12 DR MR and read it as representing “n'nan”
i And: he preferred w™’s approach (19w ~=nv'nw) in re 0T "3 and read it as "n’nan”
b 122181 1mx: reasons for each position
i »7rinfers definition of nvnw (v. 1) from pin »0nw (v. 2); just as n"INw is 1MIR7 NPR but called nvNWY, so too for 2"K
ii ~ w” infers definition of nYNW from story of qoy (v. 3) —just as that was nR1 MVNY, so too v. 1 implies NRI
1 »77: the words are not the same — "nnav” is not "nYnY”
(a) Challenge: in our read of v. 4, we consider NR2::n22V
(b) Defense: that's only when the exact word doesn’t appear; here we have "nonw” (v. 2)
2 w7 prefers to infer pYIn (2R) from PN (qov); and not from WP (N"INWY)
(a) Block: 2 n®y 1R applies to n'wTp as well (see above 2-X:n)
iii ~ Therefore: per R"an7’s report, '27 preferred n™ to v™ in re 2R and reckoned it as “'non”
¢ D77 10> reasons for each position
i »£77. infers N220w::129W (v. 5 from v. 6) —just as v. 6 is 1IR1 NIR, yet is called n29w, so too, v. 5 need not be N"KRA
ii 7% reads %R VR (v. 5) as requiring N8 NVNY, since the food must be able to be eaten
1 »77: reads 938 TR as excluding &no Ny (and NxrNL 1°N)
2 w1 the reason ®nv 91 is excluded is because it can’t be eaten = n"MRY NPRY NVINY isn’t VMY
iii ~ Therefore: per R"an7’s report, '21 preferred w”1 to n” in re DTN "3 and reckoned it as “Dnon”
III  Rar "v’s dictum: n™ didn’t mean for 1"ww to be nVY'NWY for all matters, nor did w” intend for it to be “non-nvnv” for all
a  »”7 agrees that it doesn’t make the animal permitted
i Challenge: this is obvious
ii  Defense: circumstance where he slaughtered a n9»v and found a ’n "0 12 inside - still not permitted
1 Because: we might have thought that since n” considers the nvo’'nv, it may exempt the n»pa 12
2 Challenge: n™ doesn’t accept the exception of ny1pa 2
3 Clarification: had 27 accepted n™ re 9"ww and 1317 re NY"p9 13, may have been valid — 5"np that it isn’t
b  w”r agrees that the nv'nw of a N9V rescues it from n»13
i Challenge: this is obvious, per 27 (or Xn»91)’s interpretation of v. 7 — nnnan jn but not all
ii  Defense: circumstance where he slaughtered a n81v as nvrya poin
1 Per: xn»71 - w™ permits 0711 21N NVNWIY NAMYO vis-a-vis NRIN (D0aN prohibit nRiN)
2 Therefore: we may have thought that he doesn’t consider it a nv'nw at all and it has n%2) nrmv - Y"np
(a) Challenge (»an5 97): does w1 hold that mrya pYIn is RNPNRT? (see .03 M)
(b) Answer: yes he does — as he rules that both n'm nnna that are slaughtered as nva >0 are burnt
(i) Analysis: if it were 13277, as a N1 to prevent eating y1na n*w1p, would suffice to decree against nnna
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IV »»n " and the moths
a  Story: ®»n"7’s flax was being damaged by moths
i »27 : slaughter a bird over the flax-vat, its blood will repel the moths
ii ~ Challenge: how could he do this? ®n»11 - if he needs the b1, still requires »v3; solution is to stab or do Mp>y
1 Answer: report was errant:
(a) ’»’777 he told him v R¥ (make it a N9 first)
(b) 27 he told him 9ym R¥ (no NV nw at all)
(i) o777 didn’t report 1M RY,
1. Cannot be: because he holds that there is no 91 nvnw from the NN
a. Reason: 17’s inference from v. 8 — Pnnx 1WRI — NN was commanded regarding 911 TnR 117
2. Rather: he was presenting the bigger wv1mn (1nRp RYN RY) —
a. Not only: if he stabbed it, there is no o2
b.  But even: if he made it a N0 and did “proper” nvnw, since "WV is not NVNW for DTN NI
i.  Asper: RaR 72 RN '7's report (above)
(if) a7 didn’t report 110 R¥
1. Cannot be: that he holds 1"ww is valid
a.  Reason: per R"an7’s report about *27’s ruling
2. Rather: he was presenting the bigger v1mn (MmRp ®Y1 RY)
a.  Not only: 90 R¥, which is a 99w and it isn’t a nonNY
b.  But even: M Ry, if we had thought that there is no nmnn 10 9WwY nYNY, it would be valid
i.  Asper:n27's inference from 7y TWKRD
Question about story: tradition that flax and wine were suffering in »"x until the 05y of Y11 113, and everyone under-
stood that ®»n "3 and his sons (7pm nMn’) were the Mot that saved their produce
i Answer: they were able to “protect” others, but not their own
1 Per: the tradition of X0y7 12 R1In "1, whose mar1 feeds the world but who himself gets little (12190 ap per week)
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